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Problem 12-10
   A transmission grating is expected to provide an ultimate first-order resolution of at least
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anywhere in the visible spectrum (400 to 700 nm).The ruled width of the grating is to be 2 cm.

a. Determine the minimum number of grooves required.

b. If the diffraction pattern is focused by a 50-cm lens, what is the linear separation of a 1-
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 interval in the vicinity of 500 nm?

Sol:
a.   minimum number of grooves required = 
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b.   
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     linear dispersion = f D =
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     linear separation =
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